CBRT-23 SEP 2018
GAT (ADMINISTRATIVE OFFICER)
1.
Which one of the following parts of the sentence ‘The importance of preserving cinema as an art
and historical document have been recognized all over the world,” has an error?
(a) The importance of preserving
(b) cinema as an art
(c) and historical document
(d) have been recognized all over the world

2.
Which one of the following parts of the sentence ‘Increased commercial activity and the
consequents growth of money economy led to a proliferation of arts and crafts,” has an error?

(a) Increased commercial activity

(b) and the consequents growth of

(c) money economy led

(d) to a proliferation of arts and crafts

3.
Which one of the following parts of the sentence ‘If he kept the promise of visiting us last week,
we would have given him the offer,” has an error?

(a) If he kept

(b) the promise of visiting us

(c) last week

(d) we would have given him the offer

4.
Which one of the following parts of the sentence ‘Every bottle of this company’s water is put
through rigorous multistage purification which include micron filtration’ has an error?

(a) Every bottle of this company’s water

(b) is put through

(c) rigorous multistage purification

(d) which include micron filtration

5.
Which one of the following is the appropriate question tag in the sentence ‘They will not carry
out the work as desired, ’

(a) will they?

(b) won’t they?

(c) can’t they?

(d) aren’t they?



6.
Which one of the following is the appropriate question tag in the sentence ‘She has written the
story in such way that it attracts an award, ’

(a) has she?

(b) isn’t she?

(c) is she?

(d) hasn’t she?

7.
Which one of the following is the appropriate question tag in the sentence ‘Let’s go to the
wedding party, ’
(a) aren’t we?
(b) shall we?
(c) do we?
(d) are we?
8.

Which one of the following is the appropriate questlon tag in the sentence ‘There is an old
monument at the end of the village,
(a) is it there?
(b) is there?
(c) isn’t it?
(d) was there?

9.
Which one of the following is the synonym of the word written in capital letters in the sentence
‘He DECRIED the practice of corruption and favouritism in public life’?

(a) Praised

(b) Denounced

(c) Worried

(d) Pondered

10.
Which one of the following is the synonym of the word written in capital letters in the sentence
‘At the INSTANCE of the minister the tree plantation was carried out in the village’?

(a) Case

(b) Invite

(c) Fund

(d) Request



11.
Which one of the following is the synonym of the word written in capital letters in the sentence
‘Whoever shall EXALT himself shall be abased’?

(a) Disparage

(b) Elevate

(c) Claim

(d) Lower

12.
Which one of the following is the synonym of the word written in capital letters in the sentence
‘There is a need to GARNER the energy of youth to be contributing citizens’?

(a) Bring to the front

(b) Gather

(c) Scatter

(d) Make them

13.
Which one of the following phrasal verbs may be used in the blank space in the sentence ‘While
walking on the road side I some rare stones which are different from this

landscape’?
(a) come about
(b) come by
(c) come across
(d) come with

14.
Which one of the following phrasal verbs may be used in the blank space in the sentence ‘The
school was by a group of philanthropist and social workers’?

(a) setup

(b) setin

(c) seton

(d) set back
15.
Which one of the following phrasal verbs may be used in the blank space in the sentence ‘He is
reluctant to take up this assignment, but I am him.’?

(a) working on
(b) working by
(c) work in

(d) work about



16.
Which one of the following phrasal verbs may be used in the blank space in the sentence ‘A
notice has been issued by the vigilance department for fraudulent agencies.’?

(a) look in
(b) lock up
(c) look out
(d) look for

17.
Which one of the following is the antonym of the word written in capital letters in the sentence

“The actor felt SWAMPED when his 100" movie was released’?

(a) Underwhelmed
(b) Busy

(c) Hectic

(d) Glad

18.
Which one of the following is the antonym of the word written in capital letters in the sentence

‘The teacher wanted her students to be SPLENDID in their performance’?

(a) Superb

(b) Winning

(c) Unimpressive
(d) Splendour

19.
Which one of the following is the antonym of the word written in capital letters in the sentence

‘Everyone in the group wanted to RESIST but could not do it’?

(a) Accept
(b) Resistance
(c) Antagonize
(d) Anger

20.
Which one of the following is the antonym of the word written in capital letters in the sentence

‘The test has been postponed due to INCESSANT rains’?

(a) Nonstop
(b) Continual
(c) Sporadic
(d) Constant



21.
Which among the following was NOT an impact of the partition?
(a) A separate Constituent Assembly was set up for Pakistan
(b) Representatives of NWFP, Bengal, Punjab, Sind, Baluchistan and the Sylhet district of
Assam ceased to be members of Constituent Assembly of India
(c) Fresh election were held in the provinces of West Bengal and East Punjab
(d) The membership of the Constituent Assembly of India increased

Tafof@a & @ i ar, T (Iéiee) #1999 J81 a1
(a) ITfehEdTeT & Tl Ueh 37el9T TfAYTT THT FT ST fohdT I1-T AT
(b) NWFP, S9TTel, Ualte, [, sofRede 3R 3/d & fege ool & gfafafer
R T GfIa @ & TeEg 78 ©
(c)mﬂwwqﬁmﬁmﬁﬁmﬁ%ﬁw(ﬁaﬁaﬁ)ya
(d) IR 1 TfaeTT FHT T TEEIar ¢ AT

22.
Which one of the following statements regarding the ordinance making power of the President is
NOT correct?

(a) The President can exercise this power at any time

(b) All ordinances must be laid before both houses of the Parliament

(c) They may be withdrawn at any time by the President

(d) They have the same force and effect as an Act of the Parliament

Tsgufd Y IR T T UfFT & TaY H, FeAfaf@d & @ T a1 FuT TE
oTel & ?

(a) Tsgufa el off T 5@ UfFd &7 TANT X Thd o

(b) G 3G I TG F Gl Heell & FHET @M AT AT &

(c) Tregufd garT So¢ fordll 8ff @S arow foram ST dhar &

(d) ST ATAT 3R gora T & oY F e & T sRFTE & @ §



23.
Which one of the following regarding the election of the Vice President of India is correct?
(a) The Vice President is elected by an electoral college consisting of members of both
Houses of the Parliament
(b) The Vice President is elected by members of the Rajya Sabha
(c) The Vice President is elected by members of both houses of the Parliament and the State
Legislative Assemblies
(d) The Vice President is elected by an electoral college consisting of elected members of the
Lok Sabha and Rajya Sabha

HRA & 3IISUTT & fodiasl & ey J Aeafaf@d & & &la a1 saa @@r g2

(a) HHG & aldAl Aol o AGEdl & AR el U foiaTas FASl garT 3Ursgatd
a1 fAaTaeT fFar Srar &

(b) TSI FHT & HeEdl earT IWrsgafd &1 fAaTasr frar srar g

(c) THG & el Tl o TGl adl T [AUATHTHT & FEEdT GaRT SIRISCITd
a1 fAaTaeT fFar Srar &

(d) o T 3R ToT TT & THaiad el & fAedt s v Aatae #Ase
EaRT IWTSgafd & faTasT fohar Srar &

24.
The National Livestock Mission was launched during which five year plan?
(a) Ninth five year plan
(b) Tenth five year plan
(c) Eleventh five year plan
(d) Twelfth five year plan

it A T AT & SR TS GR[ET AT 3R R aram o
(a) AT AN IretelT
OEGEIRECLEERISE
(c) ARG JIauTT ArstaAr
(d) SR JaayTT AretAT



25.
Which of the following ministries are involved in facilitating the e-visa regime in India?
1. Ministry of Home Affairs
2. Ministry of Tourism
3. Ministry of External Affairs
4. Ministry of Culture

Select the correct answer using the code given below:
(a) 1 and 3 only

(b) 2,3 and 4
(c) 1,2 and 3
(d) 1,2 and 4

Frfafld & @ #la & #AAeT 9RT & S-dIeT cJaEUT F AT T H ATTAST
g2

1.?5343131?:
2. 9ded HATT
3. focer 7o

4. TEPIA HATC

A fer I e T YA F FE 3ccR AT
(a) daeT 1 3R 3

(b) 2,3 3R 4
(c) 1,2 3R 3
) 1,2 3R 4

26.
Integrated Development of Theme — Based Tourist circuits has been launched under which of the
following schemes of the Ministry of Tourism?

(a) Swadesh Darshan Scheme

(b) PRASAD Scheme

(c) Swachh Paryatan

(d) Bharat Parv



e FHAOT T AT # @ 6 Ao & 3, avg-aeq maRa 9ded
&TaT T AT eprd e R a3 § 2

(a) TAC GIT ThIA

(b) PRASAD (YHTG) Thid

(c) FaT qdea

(d) ¥RT 99

27.
In 2006, The Government of India set up a nodal body to coordinate, monitor and enforce all
statistical activities of the country. What is the name of the body?

(a) National Sample Survey office

(b) Central Statistics office

(c) Indian Statistical Institute

(d) National Statistical Commission

HRT TSR o 2006 H, o Hr gl Fifeadhra afafafeal w1 a@eaga, aRdefor qar
YadeT I & o TF g (Aser) Fwrm aifead Far. 5@ [ &1 & F=ar § 2
(a) TS wfaeel adetor sraTeT
(b) FET FIFETHr HEATET
(c) AR FIfETRT FEATA
(d) TSET FITETHIT FTANET

28.
The National Sample Survey Office (NSSO) functions under the purview of which of the
following ministries?

(a) Ministry of Statistics and Programme Implementation

(b) Ministry of Planning

(c) Ministry of Science & Technology

(d) Ministry of Home Affairs



TS gfaeet gdefor sRTET (NSSO), Feafafaa & @ fFg Jaraa & a9 & e
FT AT &7

(a) TITETHT Td FIHA FATaTT HAATAT

(b) JNSTAT HATIT
(c) e 3R g Aarera
(d) & HATT

29.
Bharat Net is a digital programme of the Government of India which seeks to:
(a) link Gram Panchayats through broadband optical fibre network.
(b) regulate the creation of telecom infrastructure.
(c) regulate sharing of infrastructure among service providers.
(d) to regulate the use of underground and over ground infrastructure.

R A¢, IR PR & Th 3focad siea §, g v (3229) &
(a) M 3iifchel BIBR Acad & ATEIH T IH GAIAT P ST
(b) SIHIR TR FAAT & AHAOT &7 [AATHT
(c) BT YEIaT3il & ST AGEIAT o TgHTSleT HI fafaaaer
(d) AT 3R A & FW AN IJTEIAT & 39T H1 AT FHer

30.
Which one of the following statements regarding the Padhe Bharat Badhe Bharat (PBBB)
programme is NOT correct?

(a) It is a sub — programme of the Sarva Shiksha Abhiyaan

(b) It focuses on foundational learning in early grades

(c) It emphasizes reading, writing and comprehension

(d) It motivates students to excel in science and technology



¢ R §¢ AR (PBBB) %A & ey H AeaAfal@d # & Sl ar &aa a8
(a) Ig T e JAAT &+ TP 3U-FAFH &
(b) TE IRTFH FHem3it 7 gioamdr Raw w Ha &
(c) TE TS, @l 3R IHsT W AR ST §
(d) Ig faaer 3R Sief@idr 7 mEevg g & o faemf@ar & afka a=ar &

31.
The financial position of the Panchayats is reviewed by:
(a) a finance commission constituted by the Governor of a State.
(b) a finance commission constituted by the State Government.
(c) an audit of its account conducted by the Legislature of a State.
(d) an audit of its account conducted by the Ministry of Panchayati Ra;.

qargdl 1 facda Fufa $r gtem $r S §
(a) ST & AUl SdRT ST Teh fded 31T ganT
(b) ST TSR SaRT 1fSd Ueh fded 3marer gant
(c) TsT & TaUT-Asel gaRT fFY I 38& ol HT @I ganT
(d) TATI TST AT caRT fohd a1 SHE oWl i SI@TIAETT GaRT

32.
Which one of the following statements regarding the Speaker of the Lok Sabha is NOT correct?
(a) The Speaker does not vote in the first instance
(b) The Speaker has a casting vote in case of a deadlock
(c) The Speaker vacates office if he/she ceases to be a member of the Lok Sabha
(d) The Speaker vacates office when the Lok Sabha is dissolved

dlch AT HETeT o Y H AeATaf&d # & Sl AT FUA TQT dAal &7
(a) 37TETET TUAC: & AT Il IAl/dr
(b) IfaRIEr Hr TUfa 7 3rewer & g9 [Auigs A9 g1ar §
(c) 3ETeT U Nard & T & ITe 98 ol FHT T HEET Al BAlgd! &
(d) 3reTeT ug Rerd X &l § 9 oileh GHT T g Sl &



33.
Which one of the following statements regarding Money Bills is NOT correct?
(a) It cannot be introduced in the Rajya Sabha
(b) The Speaker of the Lok Sabha certifies that a Bill is a Money Bill
(c) In case of dispute the speaker’s certificate can be questioned in a court of Law
(d) The Rajya Sabha can return the Bill to the Lok Sabha with its recommendations

¢l A9l & Fag H AeAfaldd # & T AT FUT TET ol 87
(a) S8 ST THT H I AT [haAT ST Fehel
(b) olieh THT T 7ETET g JHIOIT Xl ¢ foh Dls [AUTH Teh U AUTH §
(c) faare $r ufa & 3reger & YA0T 9 A FAIT F YA fhar (oF S
ST Thel &
(d) ToT FHT 30 TEGTAAT & A (GO 1 aroq ofieh G 7 Ao (eflen)
bl &

34.
Which one of the following statements regarding equality of opportunity (Article 16) is NOT
correct?

(a) It relates to public employment

(b) It provides that the State shall not discriminate against citizens

(c) It prevents the Parliament from making a law prescribing requirement of residence

(d) It allows the Parliament to make provisions for reservation for adequate representation of

backward classes

T HT AT (3ee 16) & G A FAeAfai@d & & Hld a1 YT T LT 82
(a) T§ o AT (ASPR) & d&fad &
(b) TE FET ¢ foh TT ARSI & [a%g AGHT g N
(c) TG HHG I MATH HT HTaTehcll AT el Tl Flefel dolled & Uehell §
(d) TE |He F W Fait & qAied gfafafica & fad 3Reor &g 39y s &
3eTATT &ar §




35.
Which one among the following statements regarding Article 32 of the Constitution of India is
NOT correct?

(a) It is a right to move the Supreme Court for the enforcement of fundamental rights

(b) It gives the Supreme Court the power to issue writs

(c) The Parliament can empower another court to exercise the power to issue writs

(d) The right guaranteed under this Article can never be suspended

HRA & HEAU & HeJeoq 32 & §a9 & HeAfaf@d & & @l a1 U T&r J8l 82
(a) T§ el TSR I Fafdd el & [ 3TUTH AT H FATAGS ol
AOFR &
(b) T§ 3TUad AT H Re [Aeresr fr afFa (3iReR) aar g
(c) GHE FET 3T ~ITeT Sl R S e & SR T 93T & o
TAFT FoIT Hhell &
(d) 3 36T & Ao IRTEA HRAR T Helr off [ForiFad &7 fhar S Fehar

36.

In the recently conducted general election in Pakistan, which one of the following political
parties has bagged the largest number of seats?

(a) Pakistan Tehreek-e-Insaf

(b) Pakistan Muslim League-Nawaz

(c) Pakistan People’s Party

(d) Muttahida Majlis - e- Amal Pakistan

qlﬁh{-dldfrsloiﬁﬁg@mﬁﬁﬂﬁﬁ,ﬁﬁﬁf@ﬁﬁﬁﬁmmaﬁaﬁ
HTASIA AT H A 9o g9 &

(a) ATfREAT TElH -T- ST

(b) ITTREATT FIEAH oflaT - Faret

(c) UTfehEdTeT fqed arét

(d) FHcdTigeT ATl -U 37Hel UTfehedrel



37.

Recently Government of India has set up a high level empowered committee to resolve the issues
concerning the stressed thermal power assets of India. The committee is headed by:

(a) Secretary, Ministry of Coal.

(b) Secretary, Ministry of Finance.

(c) Secretary, Ministry of Power.

(d) Cabinet Secretary.

1T &1 # R SR o, "R & FAR a9 faggd aReufcaal & d&fid fq&r &t
gorstlel & o e 3vd Tl 38R gred @fafa &1 e fhar & 50 df@fa
37ETeT HiT § ?

(a) TG, PITell HAATT

(b) fa, facd FHTe™

(c) Hig, faegd H#ATer

(d) AFHAS Ifaa

38.

Four MoUs were signed between India and Uganda during the visit of the Prime Minister of
India to Uganda in July 2018. Which one of the following is NOT one of them?

(a) MoU on Defence Cooperation

(b) MoU on Visa exemption for Diplomatic and official passport holders

(c) MoU on Trade Cooperation Framework

(d) MoU on Material Testing Laboratory

SIS 2018 H, HRA & JUFHAT & ZaNsT GR & GRI= R 3R Zanst & &g a”
MoUs (FHSHAT 319e) g&areiRa vl 7. Aeafaf@a & & i a1 3987 ¥ e 81
g2

(a) Y& FEINT W MoU

(b) TSI 3N 3R (FrTerdl) radie URel & ford dell §¢ I MoU

(c) SAUR FEINT &l 9 MoU

(d) TS gdreToT JIRETRme 9 MoU




39.

An outbreak of polio has been confirmed in this country 18 years after the country was declared
free of the disease. A public health emergency has been declared. What is the name of the
country?

(a) Uganda

(b) Rwanda

(c) Papua New Guinea

(d) Zaire

Aiferdl (9T & HFc glel T TIVOT & 18 ¥ d1g Teh o H Wiferdl & gehlq hr gfse
$r IS, TBT Fdeliceh TAELT TITT HT GNOT T IS §. 3T A HT AH AT § 2
(a) ZITTST

(b) TarsT

(c) TTY3TT = fareiy

(d) SR (3N)

40.

Who among the following players won the Golden Ball Award in the 2018 FIFA World Cup,
Russia?

(a) Harry Kane

(b) Thibaut Courtois

(c) Luka Modric

(d) Lionel Messi

ffofaa # @ Fa e & 2018 HiwT avg &9, §4, H Iesd s 37@E
Siar

(@) & el

(b) Rsle Hieara

(c) ot #f3h

(d) e A



41.
The tendency of individuals to expend less effort when working collectively than when working
individually is known as:

(a) Social loafing

(b) Social learning

(c¢) Group shifting

(d) Social isolating

fFAId T & HR FeT B Jofoll H THRS 20 & H Sl AT AlaFadl Hr
Sgfcd H YATH SEI T gl . S@ &AT gl Sl g7

(a) ATATISIR TATART  (FIArS AIThaT)

(b) TSR FAGTT (GrreT effeior)

(c) GHg AT (9 TRAfrea)

(d) FTATTSS TAIARMcASRAT (FSEUAT) (HITeT garelfean)

42.
The belief that the conflict is not only a positive force in a group but it is also an absolute
necessity for a group to perform effectively, is associated with which one of the following views
of conflict?

(a) Traditional view

(b) Human relations view

(c) Human reaction view

(d) Interactionist view

g faeare & fdl @Hg # cohua (TaUY) shad T HhRIcAS o & 81 & dlosh
THTGRMTeN GT H fAsuIesT (1 ot) & T Ig HIg &I Teh folaTer 3ravaerarn off &,
Ig faare & fAefafad # @ fed faur & Ser &2



43,
The third dimension identified by Reddin in his ‘3-D Model’ of Leadership is:
(a) Task orientation
(b) Effectiveness
(c) Relation orientation
(d) Environment

Aded &, WS & 3-D ASr H 3oioh @RI Ygdlel fhar I=7 Jehg ITATH &
(a) Peash HATT=AH
(b) FHTIAAT
(c) Ty AfAfa=arg
(d) gITaRoT

44,
Who among the following have identified the five forms of powers namely, reward power,
coercive power, expert power, referent power and legitimate power, in the context of
organizations?

(a) Blame and Mouton

(b) Schuler and Jackson

(c) Koontz and O’Donnell

(d) French and Raven

TSI & T &, ufFadl & g g&R, 37T - qiRANe oafed, fadiss (TdiEH)
afFd, v afFa, Ay afea 3R RftwFAa (@& Fora) aFa & g,
fArafaf@a & ¥ e fr

(a) sl 3R #A3cA

(b) e AR SeFa
(c) sesT 3 3T Siere
(d) % 3R Y@



45.
The method of determining the relative worth of a job is known as:
(a) Job evaluation
(b) Job analysis
(c) Job rotation
(d) Job enrichment

forelt &1 (SiTe) & AT98T Hed (Feca) & AR &1 ggfd Fgard &
(a) SITe Hediehat
(b) TS TaRervoT
(c) STe 3Tl
(d) Site Tt

46.
The capacity of a group of people to pull together persistently in pursuit of a common purpose is
known as:

(a) Motivation

(b) Job satisfaction

(c) Work culture

(d) Morale

forell Tdfeics 3897 & TEROT # SRR HTY-HTY 37T d6a1 &I ol & Teh HAg
&THAT, Pl AT gl ST §72

(a) 9ROT

(b) Sile HeE

(c) T HEHIA

(d) AT (gleem)

47.

The process of helping redundant employees to find alternative work is known as:
(a) Outplacement
(b) Golden handshake
(c) Downsizing
(d) Mentoring



dofous F goad & fod SafdRed (3eraede) HAARAT 1 #Acq e HT Fihar,
T Fgellc! § ?

(a) =TT ISl (3T3¢ ToldHT)

(b) TaOIH faers (Mesa E3AF)

(c) 3THR T (SBHTSTSIdT)

(d) 3reTerel GHAETAT (FeIRan)

48.
Many organization use ‘SMART’ to summarize the criteria for objectives of performance
management. Which one of the following correctly explains the term SMART?

(a) Sustainable, Measurable, Achievable, Relevant and Time framed

(b) Specific, Measurable, Achievable, Relevant and Time bound

(c) Situational, Motivational, Agreeable, Resourceful and Trustable

(d) Specific, Measurable, Agreeable, Resourceful and Time bound

Igd ¥ TEA P-fAue Joe & 329 & [@F AIes 1 TR JEJd A &
forr ‘SMART’ 93197 ad . [AFaTaf@a & & Fld a1, SMART UG & & <grean
LT § 2

(a) AT, AR, 3Iaeel, Yoldeec US TISH oS

(b) TATATHH, AR, 3<diadel, YJoldec TS CISH S138
() ToguereTel, AifederTe, 3R, RAMP U5 ceead
(d) ¥fAfhes, Aerae, refisee, REEE U5 esA a3

49.
A document containing the minimum acceptable human qualities necessary to perform a job
properly is known as:

(a) Job specification

(b) Job evaluation

(c) Job description

(d) Job enrichment



forell Sifer (1) &l AsTfeT el & o TaRTeh =geiad Fihd AeTdT o1
FATISE F Tl ToIW@ I gl ST &

(a) FTF sORT (STa TATATHHR)

(b) R HedwheT (STd FAeYUAA)

OEERRCEUNGICRET S 20)

(d) P a9 (ST SRTHT)

50.
Which one of the following is a content theory of motivation?
(a) Expectancy theory
(b) Goal achievement theory
(c) Equity theory
(d) Maslow’s need hierarchy theory

FAROT & vk AR g, Feafaf@a & @ «ia ar §2
() ScTTem fAgia (SFevacdr 2aN)
(b) T Wit fagid (e sredfiasic Lan)
(c) forsaetar fgra (sfFadr &)
(d) ATECT T ARl UGTeIshd Hgia (ATEeH =15 gTsehi LII)

51.
Which one of the following is NOT a technique for forecasting human resource demand for an
organization?

(a) Predictor variable

(b) Zero-base technique

(c) Top-bottom technique

(d) Simulation technique



foell areet & T AleTa HETE AT & YaTJA &I Teh dehelieh, HAeaAai@ad # @
FIT A8 &7

(a) JTaderdT T (AfSFeT dRT)

(b) T-3TUR dehaileh (SR S ehsileh)

(c) AM-del dFeilen (TIA-AIcH Cehaileh)

(d) 3TTROT Theileh (AT Tehalleh)

52.
Which one of the following models of Human Resource Management emphasizes that
employees are resources in the same way as any other business resource and must be obtained as
cheaply as possible, used sparingly and developed and exploited as much as possible?

(a) Harvard Model

(b) Michigan Model

(c) Baldrige Model

(d) Triarchic Model

AT AU JaeeT FT Aeafaf@d & & i a1 Aisd 39 W g ol § & gy
off 3y e & O § S P 3T uau & GO, 3R Seo JUAEHT &
H greg fRar Ser aifge qur FeRId @ 39er A SR S afge, 3R &Sder
38 & 3 g T a1 AT 3R et fhar Sirer anfge?

(a) §TAS HAIsA

(b) TR Alse

(c) TTes{IeT Alsd

(d) B3R fgsw Alsal

53.
Which one of the following is NOT a type of Validity in the context of a psychological test /
instrument to measure personality used in the process of selection?

(a) Construct validity

(b) Content validity

(c) Face validity

(d) Zero validity



T HT IfhaT A hfddcd A & fIT GgFd gl dlel Teh Helld oAlioteh
qireToT/aTYs o Hedl H, fAFAfaiad # & Pl AT AT (FYUdT) FT Th TR A8l
g2

(a) T¥HTOT AT (FEgere AfAfE)

(b) AT AT (Fee afafsd)

(c) el (@) dudr (hy Afafsd)

(d) eI dErar (SR aferfsé)

54.
Which one of the following is NOT part of HR scorecard developed by Beatty et al. (2003)?
(a) HR competencies
(b) HR practices
(c) HR security
(d) HR deliverables

A AR 3T (2003) GaRT TAFFAT HR 3FhIS (TRRFS) F 30, fArAfeafaa & &
HieT AT TGl ¢ 2

(a) HR ALY (hITeqe fad)

(b) HR =gagR (IfFecaw)

(c) HR gYaT (faargRd)

(d) HR 9¢I/3cqrg (STeraieedq)
55.
According to Herzberg’s Two-factor Theory, which one of the following is a motivator?
(a) Supervision
(b) Work group
(c) Responsibility
(d) Salary
golsdl & & R (Tceh) Feid & IER, Frfafad & @ #i a1, wh AARH
87
ORIEEIE
(b) FRIHHE
(c) 3caReIAca

(d) IdT (TITR)




56.
The training technique in which trainees learn on the actual or simulated equipment they will use
on the job but are actually trained off the job is known as:

(a) Sensitivity training

(b) Vestibule training

(c) Diversity training

(d) Controlled training

GRIGTOT &1 g8 Aeholleh FAT Fgellcl ¢, ST TRIE] 30 arEdfdsh 372ar HiFd Iuehor
T WY od § 8§ FF W Td §T @i & ) ITIT G, Afhe aread &
fSraeT 9fRIeToT 3e¢ S W A T|d §U (316 & i) fzm = & 2

(a) G (IguTeiieram) wfRrafor

(b) ThISE (TforamT) Tfretor

(c) Tafatrar gferafor

(d) =T gfreror

57.
‘BARS’, a method of performance appraisal stands for:
(a) Behaviourally Anchored Rating Scale
(b) Behaviour Appraisal Rating Scale
(c) Basic Appraisal Rating Scale
(d) Behaviour Approach Ranking Scale

H fAsUIes Hedae i v fAf ‘BARS & aredd §:
(a) foRfaTRel tohs YT whar
(b) TR 3mer YT wher
(c) SR+ 30Te T Thar
(d) foefaar 3mrar IRher waher



58.
Graphology is a method used mainly in:
(a) Training
(b) Selection
(c) Promotion
(d) Placement

AfGH A= (TThIeiiol) T fafer & foramesr yier gead: g &
(a) TfreTorT H
(b) TTT H
(c) Uelella H
(d) TATAA (AT TATISTeT) H

59.
Which one of the following terms was NOT used by Kurt Lewin while proposing the basic
mechanism for managing change?

(a) defreezing

(b) changing

(c) unfreezing

(d) refreezing

Seold Yaue & o Hel () fhar fafr gedd ad FT & dfdel gan
Aeafaf@a & & g 9 &1 39T g1 fohar I=r am

ORELASEL

(b) AfStar

(c) 3TATRISTIT

(d) RETSeT



60.
Which of the following statements relating to Scanlon’s Incentive Plan are correct?
1. The plan formula divides payroll expenses by total sales
2. It creates production standards for each department
3. The plan includes participative management systems using committees
4. The plan formula uses sales value minus materials and supplies, all divided into payroll
expenses
Select the correct answer using the code given below:
(a) 1 and 3 only
(b) 1,2 and 3
(c) 2 and 4 only
(d) 2,3 and 4

Eholold hl IRUMHS ATl & FoatT H Hofai@a &7 & Hld & S Tl 52
1. ST T FT AdTTTD Tt T ol skl T fAST e §

2. I Ycdeh AN & ol 3cdieeh Alish giold Ham (TEdn) &
3. 38 e A WAl 1 3T AR gU TG YU cqaer’

AAST &
4. 38 ASHET & g # fohg Hed & F a3t AR Mgt @ gerr S g,
dur |t I ddeITw @i A died §

A fer I e 1 YA F FE 3ccR AT

(@) daar 1 3R 3

(b) 1,2 3R 3

(c) haat 2 3R 4

(d)2,3 3R 4
61.

Which of the following conventions of the I.L.O. is associated with the “Freedom of Association
and Right to Organise™?
(a) Convention No. 87

(b) Convention No. 29
(c) Convention No. 138
(d) Convention No. 17



LL.O. & eafaf@a gammsEr (ifaasa) & F Sid a1 §aa T Taaadr iR e
& AR & Fared § 2

(a) FATTH HE&AT 87

(b) FHARTH TEAT 29

(c) THAWEIH TEAT 138

(d) FAREH &A1 17

62.
Which of the following indicates the conclusion of the conciliation proceedings relating to a
dispute initiated by a Conciliation Officer, under the provisions of the Industrial Dispute Act,
19477
(a) The day on which the conciliation officer declares the failure of conciliation
(b) The day the conciliation officer sends his failure report to the appropriate Government
(c) The day the dispute is referred to the Labour Court by the appropriate Government after
receipt of the failure report
(d) The day the failure report sent by the conciliation officer is being received by the
appropriate Government

e faare ifafags, 1947 & 3uatl & e, Th Forg TSN garr famelr
faare & #9U & IREH & A Forg i F Tay H 3R FEafaf@d F § wia
T YT FET AT 82
(2) I8 f&oT o9 Goig TSR Forg A Ahorar i arvom Far §
(b) T8 &t STa Forg RSN fAheldr &1 3o RUIE 1 TG TR & Fotar
3
(c) a8 T&eT S fawheram ROIE 9o glet & g FHT ThR earl faare T 5
ATy & fAfdse famar Srar &
(d) T8 &t o Forg RSN @Ry Sl a2 ahorar RE FFfRIT TP &
gred gt §




63.
Which of the following statements relating to the Grievance Redressal Committee under the
Industrial Disputes Act, 1947 is NOT true?
(a) Every industrial establishment employing twenty or more workmen shall have a
Grievance Redressal Committee
(b) The Grievance Redressal Committee shall consist of equal number of members from
employer and workmen
(c) The total number of members of the Grievance Redressal Committee at the maximum
shall be ten
(d) The Grievance Redressal Committee may complete its proceedings within forty five days
on receipt of a written application from the aggrieved party

AP faarg sfRfaTaA, 1947 & aefa, Rea @are afafa & deg #
el & @ 9 a1 s T T8 § 2
(a) 1 I7 3EH 3 FAFRT F AT Fe arer T3S 3w gfasssr 7
e Rierad Farer afafa g
(b) Ripraa fAarer fAfa & FAFAT T FHASRT & TEETAT ST TEIAT &R gl
(c) RIIT HaRoT GfATT & Gl & Fel Tear Aftshda e g
(d) Rrpraa arer afafa #1396 iR, AfEd gger § i@ sy
gred gl & ddrelie f&eT & 37eT Q¥ e gref

64.
As per the provisions of the Industrial Disputes Act, 1947, under which of the following
conditions a strike declared by the workmen employed in a public utility service establishment
shall be illegal?
(a) Giving a notice of strike to the employer within six weeks before striking
(b) During pendency of conciliation proceedings before a conciliation officer and seven
days after conclusion of such proceedings
(c) After fourteen days of giving a notice of strike
(d) Within two months after the conclusion of the proceedings pending before a Labour
Court



e faare afafaas, 1947 & 3uatl & 3R, Rl o 3T dar gfasers
# fAOd FFeRI carT 9ifd g, Feafeiad # & fora fafa & 3y &
STEai?
(a) ATl TN STo1 ¥ Ugel . Hodlg T AT & 37T [FAAerar 1 gsdred T Fall
&t
(b) Getg ATUSNT & TAET Foig PAATE! & foarTedier T §U FAUT W FrIawET
& gAftT & geard ard &
(c) dTel & AlfeH ot & dieg ot Teara
(d) TRET 5 I & THET diead HRAAET HI AT & d1G af A I AT
AT & 37T

65.
An employee working in a factory retires from service after rendering continuous service for a
period of twenty four years. The last wages drawn by the employee before retirement was Rs.
39,000/- per month. What is the amount of gratuity the employee shall be entitled to?

(a) Rs. 5,40,000/-

(b) Rs. 4,68,000/-

(c) Rs. 5,28,000/-

(d) Rs. 4,94,000/-

T FR@ FT T FHANT AT a§ HT RIMAR JAT Tl & §16 TDIr JFT
AT (RER—R 81aT) & ReR g & 9gel 39 FHaNY ganT 3MeRd fmar amm 3ifas
ade 39,000/- T9F YT HATE UT. I8 HAIRT 3UGI HI Tohclell ATA FT §HGR R

(a) TIF 5,40,000/-

(b) TIX 4,68,000/-

(c) T 5,28,000/-

(d) T 4,94,000/-

66.
Which of the following statements is NOT correct relating to the Marxist perspective to
industrial relations?

(a) Class conflict is necessary for social change

(b) The legal framework of employment supports the interest of employees

(c) It considers pluralism a mere illusion

(d) It sees industrial conflict as synonymous with political and social conflicts



fArafaf@a & ¥ Fia ar Fua e gaul & AeadT IRUeT & 9T F TqEr
(a) AHAITSS IRATA & o T TEY HGTF &
(b) USHR &7 faf8F orar FHEaRAT & FAl & g YereT T &
(c) Tg 3TAchdlg Pl Ueh HH HAF AAAT ¢
(d) T 3w FOY FI Tleilae AR ATHATGR FOY & AT FAE 37 7
¢qdr g

67.
Which of the following statements relating to the unitary perspective concerning industrial
relations are correct?
1. There is only one source of authority i.e. the management
2. Conflict is irrational and unnecessary
3. Conflict is necessary, but it can be and needs to be managed and resolved
4. Trade unions are necessary and they should be encouraged
Select the correct answer using the code given below:
(a) 1,2 and 4
(b) 1 and 4 only
(c) 1 and 2 only
(d) 3and 4

Arfai@d & @ #la ¥ FUa e qae § Fad UahlcAs TRYGT & J6E A
e 82
1. 8T Wi¥eR FT Fad T & AT § 37T - g
2. gus faede 3R emaEs §
3. @O e §, fohq 50 Herres 3N SHAT FHTU el T HEGLIHT B,
S fFar ST Tehar §
4. ASIGY HY (¢8 feiTel) 3MaTeh § 3R So¢ Sicarisd fham e =1ige
AT fed I e & YA F FE 3ccR gfAT:
(@) 1,2 3R 4
(b) Faer 1 3R 4
(c) haer 1 3R 2
d 3 3R 4



68.
Which of the following statements relating to the Non-Statutory Central Wage Boards in India
are correct?
1. Wage Boards were set up primarily on the basis of the Industrial Policy Resolution
1956
2. The first Wage Board was set up in 1957
3. The first Wage Board was set up for tea plantation
4. The Boards are purely recommendatory bodies
Select the correct answer using the code given below:
(a) 1,3 and 4
(b) 2 and 4 only
(c) 2and 3
(d) 1,2 and 4

HRT # 3elelell (3riTafle) HET daet a8 (Al Asdl) & day #, ArAfafad
H & &ld § FUA el 82
1. el Sish &1 TAYer Hegd: efas Afd Fhed 1956 & MUR 9 Hr
=T oA
2. YA dde 15 1957 & TUfa fomar amam or
3. 9YHA ddeT A1 AT NN (T & o g fear = ar
4. 915 qof &9 @ F&dfa e g

A fed T g H TEET A FE ok YA
(@) 1,3 3R 4
(b) haeT 2 IR 4
(c)2 3R 3
1,2 3R 4

69.
A dispute involving an individual workman relating to which of the following issues shall NOT
be an industrial dispute without the support of a trade union or an appreciable number of
workmen under the provisions of the Industrial Disputes Act, 19477

(a) Retrenchment

(b) Termination of employment

(¢) Transfer and Promotion

(d) Dismissal / Discharge



Tsh ST (AdE) Tad Th Y wdsR nfde &, Feaf@a & 4 &g e 72
& WY H, U 5 FAAa HYUAT YT HAGRI H HEAT & FASA & e
e faarg sfafaa®, 1947 & 3ueel & 3refe, v 3iea@e faare a&r gem 2

(a) BT

(b) VSRR T FATTCT

(c) FITATAROT 3R GaleaATd

(d) FEEdel / FarAafFd

70.
Which of the following are considered to be the methods of resolving industrial disputes without
State intervention?
1. Collective bargaining
2. Conciliation
3. Voluntary arbitration
4. Adjudication
Select the correct answer using the code given below:
(a) 1,3 and 4
(b) 2,3 and 4
(c) 1and 2
(d) 1 and 3 only

farafafaa & @ frd, ToT gedaiT & foar 3iieafe faarel &1 gamae &a &
fafer AT Sreem?
1. @reHfgs Hiarsit
2. GeI®
3. Tdfcos ATEIETH
4. g Horaa
A fed T g H TENT A FE ok YA
(@) 1,3 3R 4
(b)2,3 3R 4
()1 3R 2
(d) Faer 1 3R 3



71.
Which one of the following is associated with the process where union membership is a
prerequisite for employment in a firm?

(a) Union contract

(b) Union shop

(c) Check-off

(d) Closed shop

frfaf@a & @ S ar 39 ufrar § g6ftg &, St ol o & Ao (Raee)
& o giager (Fe) S FeEgar U qarieT g7

(a) IaeT Wiaar (T Figae)

(b) AT gl (FfraeT 2ATT)

OEAEGINCEI;IED

(d) FAIES AT

72.
Which of the following is an adjudication authority in resolving industrial disputes in India under
the provisions of the Industrial Disputes Act, 1947?

(a) Court of Inquiry

(b) Labour Court

(c) Board of Conciliation

(d) Conciliation Officer

e faarg fRfaa#d, 1947 & 3uael & 3, IR A7 3eAPNew faamEr &
foRretor 7 efef@a & @ oia e = Avaa wiRsRT g ar g2

(a) ST =TT

(b) HH AT

OR;CIHICIE

(d) gerg 3ifAerry

73.
Which one of the following is NOT an objective of the Indian Labour Conference and Standing
Labour Committee constituted by the Government?

(a) Promote uniformly in Labour Legislations

(b) Use it as a forum for resolving disputes between employers and employees

(c) Lay down a procedure for settlement of industrial disputes

(d) Discuss all matters of all-India importance as between employers and employees



faraAfaf@a # @ Fla a1, TWER aRT a1fed ARAT HfFw Tom AR Tl s&#
afAfa &1 tF 322 FE 82
(a) 3 Hefell A THEAAT I TSTeTl
(b) a3t 3R FAaRET & &g [aEl &1 FgaArEnd &= & o th 79
(PRA) & T H FHA 3UATT FHAT
(c) e faamel & f9er g T Sisham (wrRifaf) FuiRa weer
(d) a3t 3R ATl & &g & gREa F (F & #) 3fa ARdT Agea
& Tell el W fauR - fawAey e

74.
Which of the following gives the correct order of their formation from the earliest to the latest?
(a) AITUC, INTUC, HMS, UTUC, CITU
(b) INTUC, HMS, UTUC, AITUC, CITU
(c) AITUC, INTUC, UTUC, CITU, HMS
(d) INTUC, AITUC, UTUC, HMS, CITU

RAFAT@a # @ ST G1, 3d% AT & ITdd T Tdiddd T 3R & g HH Hl

gelTar &7
(a) AITUC, INTUC, HMS, UTUC, CITU
(b) INTUC, HMS, UTUC, AITUC, CITU
(¢) AITUC, INTUC, UTUC, CITU, HMS
(d) INTUC, AITUC, UTUC, HMS, CITU

75.
Which one of the following is NOT covered under the functional types of unionism identified by
Robert Hoxie?

(a) Business unionism

(b) Predatory unionism

(c) Evolutionary unionism

(d) Friendly or uplift unionism

9 gt @RI Jgde fohd I HHAIG & JohicHs YHRI & 3iaed, faeafafad
H & &7 A81 37T 82

(a) SITHT HEEAIG

(b) Tardafera (39gd)) Huag

(c) faerrardr dgarg

(d) AT AT IoeThel HEEG




76.
Which one of the following Acts is the first major step in promoting workers participation in
management in India?

(a) Industrial Employment (Standing orders) Act, 1946

(b) Equal Remuneration Act, 1976

(c) Industrial Disputes Act, 1947

(d) Contract Labour (Regulation and Abolition) Act, 1970

HRA H, 94T H FHASPRI HT TgHTEAT S §eaT S & Igall 937 sheH, [Feafafaa
H & @l ar yfRaATd g2

(a) 3w AT (FART 3rcen) AfRAAIA, 1946

(b) TATT qIRATAS 3fAfATH, 1976

(c) 3w faarg HfRfATA, 1947

(d) &1 H#7 (afergasT 3R 3c@es) T, 1970

77.
Who has advanced the concept of Industrial Relations as a function of actors, their ideologies,
and context resulting into a set of rules governing the actors at the workplace?

(a) Dale Yoder

(b) Sydney and Beatrice Webbs

(c) Michael Poole

(d) John T. Dunlop

HATT F HE, 3ART FARYRIT JUr Tedt, Fas aRomT T FRITTT W Harst
fAaRa wa gt ATAT ST A g1 §, & ¥ # 3R Faul H HhodH,
fras ganT fawfa &r =it 2

(a) 3T A

(b) st 3R dicsa asq

(c) ATSH Gl
(d) ST & SoTol

78.
Which among the following has defined ‘Social dialog’ as “all types of negotiations and
consultations or simple exchange of information between / among representatives of the
Government, employers and workers on issues of common interest relating to economic and
social policies™?

(a) The Indian Labour Conference

(b) The Philadelphia Declaration

(c) The Standing Labour Committee

(d) The International Labour Organization




"3 JUT AR A § FERT FAT Bl & H W WHR, At qar
SHPRT & GlAfARAT & S @l TehR &1 A qUT HIUMT Il FeAT I HTLROT
JTETA-YeT" & 'TATe Tl & 3T H fafai@d & & fFasr aRenia faar g2

(a) ARATT ATHS FeEaoll

(b) Tremsfowar aiwor

(c) TIRY 7 AfAfa

(d) IRTET T TISA

79.
Who defined collective bargaining as a “Social process that continually turns disagreements into
agreements in an orderly fashion”?

(a) Alan Fox

(b) Alan Flanders

(¢) Neil W. Chamberlain

(d) V. B. Singh

"I VY FrATIE Tfhar ST TR SHafyd &1 ¥ gAa O d@gAfa & IRafdd
gIdT BT & T Afed Higarel & 39 H fhae afenfa fomar am

(a) ToleT PIeFd

(b) ToHeT Folsd

(c) el 30y, UFdold

(d) arsr. g

80.
In the context of HRD, ‘the art of facilitating the enhanced performance, learning and
development of others’ is known as:

(a) Behavioural Modeling

(b) Mentoring

(c) Stimulating

(d) Coaching

HRD & #Hesl &, q@l &7 aftiq & fsdies, HRes (1) 3R fara & garey
JeATel T FHell' HI Fel AT &

(a) SYAERIcHS Flaeur (fageata Arsfda)

(b) T (FeRa)

(c) WewTge (FFeFgafcan)

(d) TRreyoT (i)




81.
In the sequence 3,5,6,10,9,15,12, A, B,...... what are the values of A and B?

(a) A=18, B=20
(b) A=15, B=20
(c) A=15, B=18
(d) A=20, B=15
Fo 3.5,6,10,9,15,12, A, B,........... , 7 AR B & A FIT 87
(a) A=18, B=20
(b) A=15, B=20
(c) A=15, B=18
(d) A=20, B=15

82.
Number of students speaking English and Hindi are in the ratio of 4:5. If the number of students
speaking English increased by 35% and speaking Hindi increased by 20%, what is the new ratio?
(a) 7:8
(b) 8:9
(c) 9:10
(d) Can’t be determined

msﬂtﬁawmmﬁzﬁaﬁrme4;sguﬁmmm
faeanfiay &1 gear 35% 9 Sv 3R @ des arer faciat & dear 20% de
ST T AT 3T T gIam 2

(a) 7:8

(b) 8:9

(c) 9:10

(d) o (ferem) a8 fRar o dehar

83.
A pen is sold in Rs.121 with a profit of 10%. How much the seller spent when he bought the
pen?

(a) Rs. 100

(b) Rs. 105

(c) Rs. 110

(d) Rs. 115



Teh 9T 10% o & AT 121 9T & &7 3141, Gohdl of U @gd I8 fohdel 9
g fmr & 9

(a) 100 TI

(b) 105 TIX

(c) 110 39

(d) 115 39

84.
The number of English alphabet (capital) which have the same image in a mirror is:
(a) 8
(b) 9
(c) 10
(d) 11

3G & 3T 93 HERT (Fed) Fr F&AT hder & S fhdr gdor & 39 & (S
gen) wfafaes ured gd & ?

(@) 8

® 9

() 10

) 11

85.
Pointing to Geeta, Sita said, ‘her mother is the only daughter of my mother’. How is Sita related
to Geeta?

(a) Mother

(b) Daughter

(c) Sister

(d) Grand mother

AT 1 AR Fhd FIA §U AT F Fgl, 'JHR AT AJ AT A gohelldt T 8. Fr A7
T & AT FIAT FEYT § 2

(a) FTT

(b) A

(c) SigeT

(d) GIEY / =TT



86.

. . 4
The infinite sum 1+ I +

121
(@) 755
363
) o5
6
(©) 5
100

(d =3

9 16

PP TERLRRRRRRRRTREE equals:

T AHAT 1+ g SRTe §7

11 112 113
121

(@) 755

100
363

®) =%

(0) 2
100
(d) o

87.
The area of the triangle whose vertices are (5, 5), (6, 6), and (7, 5) is:
(a) 125 Sq. unit
(b) 1 Sq. unit
(c) 10 Sq. unit
(d) V2 Sq. unit

39 TegsT &1 &Tthe fohalam § forae i (5.9), (6.6), 3R (7.5) § 2
(a) 125 T SHS
(b) 1 T SHIS
(c) 10 T 5HTg

(d) V2 T 31
88.

If ‘b’ is an even integer less than 55, then how many pairs of positive integers ‘a’ and ‘b’ satisty
the following equation?

1,3_1
a b 15
(a) 5
(b) 4
(c) 3

(d) 2



I b, 55 @ BT Ueh A qUlieh §, @l UellcAs quitenl ‘a’ AR b & Tohelel JoA
et FHAHIoT HY FJsE HET 2

1 3 1
PREEET
(@) 5
(b) 4
(c) 3
(d) 2

89.
If a person cycles at 8 Km/h, then the person arrives at a certain place at 1 pm. If the person
cycles at 12 Km/h, then the person will arrive at the same place at 11 am. At what speed must the
person cycle to get there at noon?

(a) 8 Km/h

(b) 9.6 Km/h

(c) 10 Km/h

(d) 12 Km/h

I FS IiFd 8§ Km/h ¥ ASfhe Telar &, dl 98 Ueh ARad T W gugy & 1
g9 (1 pm) tthlgilFlT g Ife 98 12 Km/h & Osfohe Ioirar § o 98 38 T 9T
g 11 0 (11 am) 9 QE%MT 30 Ifad o asfhd 5T FdR & I afgy

fh g8 39 TUE W AT & AF 12 o (ALAEA) g ?

(a) 8 Km/h

(b) 9.6 Km/h
(c) 10 Km/h
(d) 12 Km/h

90.
Eight points are marked on a straight line and nine points are marked on another parallel straight
line. How many triangles can be constructed with vertices among the above points?

(a) 252

(b) 288

(c) 540

(d) 680



Teh Tl 3T W 3716 g Rifeed 6y 73 § 3R 306 AR T 300 & @ W)
At fdg fafeed fhd = & 3w fga & (7 @) MY el fhaa g aa
ST @Fhd & ?

(a) 252

(b) 288

(c) 540
(d) 680

91.
If x+2==2,thenx3 + % is equal to:
X X
(a0
(b) 1

(c) 2
(d) -2

afe x+i=2 g, dr x32+x% frae SR § 2
(@) 0
(b) 1

(c) 2
(d) -2

92.
The number of 8-digit numbers in which no two consecutive digits are identical, is:
(a) 9% x 8°
(b) 9 x 87
(c) 98
(d) 88

8-37hI arell VY fohaeir G & ST FIS off af ARG 3% THaAT gl 87
(a) 92 x 8¢
(b) 9 x 87
(c) 9°
(d) 88



93.
In a community, 60 persons play cricket, 64 persons play hockey and 90 persons play chess.
What can be the maximum number of persons in this community who play exactly two of these
three games?

(a) 214

(b) 154

(c) 150

(d) 107

et | #, 60 =afFa frsre Word €, 64 afad g Wad &, 3R 90 safFd erader
Fold 8. 39 Feg A 0 IfFadl fr 3Rewan dear fhdel g e § S 3T et
el # ¥ 8F-8% Flg al T FoId & ?

(a) 214

(b) 154

(c) 150
(d) 107

94,
LetA=5'+7!'+9!'+ 11!+ 13! + --- + 99! . The highest power of 2 in A is:
(a) 2
(b) 4
(c) 6
(d) None of these
AT AT A=5!+7'+9'+ 11!+ 131+ -+ 99!, § dl A H 2 Fr A¥FIA T &

(a) 2
(b) 4
(c) 6

(d) 377 & I Q!

95s.
If two altitudes of a triangle are 7 units and 9 units, then what is the minimum possible length of
the third altitude?

63
(@) -

16
(b)
OF

(d) None of the these



gie T FeeT & & Moree 7 5h1S 3R 9 S & &, a ey M¥ora &1 wgaaA
TT TS Rhcel ¥

(a) =

(b) =

OF

(d) $TH | PIg 6T

96.
One feels hotter at the top of a flame than the sides because of:
(a) Conduction.
(b) Convection.
(c) Radiation.
(d) both conduction and radiation.

Tl Sarer (o) & 31aTel-geTel T 3198T FUX 34US ITHGS AGYH Bl T HROT g
(a) ATcTehcd
(b) TageT
(c) Taferor
(d) Irerhca AR fafRRoT gr=r

97.
Water is boiling in a flask over a burner. To reduce the boiling temperature one must:
(a) reduce the surrounding temperature.
(b) connect the mouth of flask to an evacuating system.
(c) supply heat from a very intense heat source.
(d) close the container with an airtight cork.

ToX T Th FollEsh H Ul 39 T@T & FIUTh hl H Hled & o FAT Har F=r
T ?

(a) M-I & dT9HTT Pl A T AT

(b) FelEh & HE & ATl o & Sisar =rige

(c) FopelY SIgd ey AT AT & FSAT &1 I A AT

(d) 9T F IR BT (FIF) F gG FEAT AR




98.

Rainbow is formed due to combination of:
(a) refraction and scattering
(b) refraction and absorption
(c) dispersion and total internal reflection
(d) dispersion and focusing

Sate, fohddh TSt (Ael) & &l &
(a) 39aceT 3R FehToTe
(b) 3M9ade AR 3raeiwor
(c) fagigor 3 qut 3rafRe qwad=
(d) fagrgor 3R wreRded

99.
Which one of the following is NOT correct when two convex lenses are in contact?
(a) A change in magnification
(b) Increases the resultant power
(c) Changes the field of view
(d) Increases the resultant focal length

SIS & Seder o FE9 (fAer gU) & €, O fAefarad # @ 21 @ Adl &
(a) 3T H FCorg
(b) IROTEHT AfFd g 7T &
(c) TfSC &1F Jgel ST &
(d) oo B gff 96 ST §

100.
For critical angle of incidence, the refracted angle is always:
(a) Equal to the angle of incidence
(b) Less than the angle of incidence
(c) 90°
(d) 180°



3TIdeT & Hifder HIUT & o, 39adeT HIoT gHLAT 8T ¢ :
(a) 3T9del PIUT o STEX

(b) YA HIUT F BieT

(c) 90°
(d) 180°

101.
In dark, when the plant is neither photosynthesizing nor requiring any CO,, the stomata remain:
(a) completely open
(b) completely closed
(c) partially open
(d) partially closed

O A, S GiT & dr YR HRIWOT T I@T gidm & AR o & 38 fwdr o, Hr
HTGeGehell gl &, o I W &

(a) T RE & o

(b) T E & ¥

(c) 3TTMRIR ¥T & TGel

(d) 31w ¥7 F &g

102.
Which one of the following statements is true for the human male and female gametes?
(a) Male is homogametic and female is heterogametic
(b) Female is homogametic and male is heterogametic
(c) Both male and female are homogametic
(d) Both male and female are heterogametic

AT 7 3R AT eAh! & o fefaf@d & & i a1 sy a@&r g2
(a) TR FAFIAHT grar § N Aer awwgewd g §
(b) ATGT FAGIHT Fie & 3N TR FATAGTHST gier &
(c) X 3R AT g THGIHHT B §
(d) 7R 3R #Aer 2= favageadr g §



103.
Which one of the following combinations of food type would have maximum unsaturated fat and
thus would pose minimum threat to heart disease?

(a) Milk and butter

(b) Red meat and egg

(c) Cream and cheese

(d) Fish and vegetable oil

e JhRI & ATl & 4 @i @ Fhieel & Hf¥hasd 3Eqed aar gei 3R
SHTAT EEI-UIT T wgeAdH 3MMRAT Scoe] aM?

(a) G¥1 3 HAFGT

(b) dTel AT 3R 3737

(c) 7S 3R TR

(d) FAGT IR gaTafa do

104.

The main function of fibre present in the food we eat is:
(a) it provides nutrients and is digested to simpler forms.
(b) it regulates the muscular movement of alimentary canal.
(c) it contains beneficial microorganisms.
(d) it neutralizes the acidity of the stomach.

§AR HIoe # 39U W & JALT 1 &
(a) I§ Y& dcd YTl Har & 3R T T & 9 7T §
(b) TE 3MER Tl Fr AMT Far = [IDT Fear &
(c) FHH FHHNT FaHA ST 81 &

(d) TG AR HT 3FelcT I TASTHTET FT &l &

105.
Which one of the following combinations correctly represents the stored food in plants, animals
and fungi respectively?

(a) Sugar, glycogen, starch

(b) Starch, glycogen, starch

(c) Starch, glycogen, glycogen

(d) Glycogen, sugar, starch




fAefaf@a & & #la a1 FaIe aredl, St 3R Sahl H FIARd T HT HA:
&F O g FHar &2

(a) AT, TATSPISTT, TR

(b) TCRT, TeITSehlolel, T

(c) TCT, TATSHIGIA, TATSHIST

(d) TSI, AR, T&RT
106.
Which of the following will NOT help in curing stomach acidity?
(a) Magnesium hydroxide
(b) Calcium carbonate
(¢) Sodium hydrogen carbonate
(d) Barium sulphate

AT 37Ferdl I b el A, AFafaf@a # @ Sl ar 39 agi grem
(a) HIATRITA gTSFIFATSS
(b) HTRIH FIefeic
(c) AIf3TA gT8BIoTeT FIefelc
(d) sRTHA Fehe

107.
Which element is used in X-ray diagnosis?
(a) Magnesium
(b) Strontium
(c) Barium
(d) Calcium

X- o1 fo¥ere & i a1 ded 9 fohar Sirar g2
(a) HIARATH
(b) TeliaRrIH
(c) SRTA
(d) i



108.
Which of the following solids CANNOT sublime at room temperature?
(a) Ammonium Chloride
(b) Todine
(c) Naphthalene
(d) Dry ice

Aef@a & @ FE 39 &1 FA & JUHT 9T FEIUTdT A8l & Johdl?
(a) IATATH FRSS
(b) 3TAEA
(c) wioFreieT
(d) I oA (%)

109.
Which of the following acids is NOT found in plants?
(a) Citric acid
(b) Tartaric acid
(c) Uric acid
(d) Ascorbic acid

faraAfaf@a & & Pl a1 3 gIeul H gl 9rar ST § 2
(a) e et
(b) TR 315
(c) INF 31+
(d) Ui 31Fd

110.
Thermal decomposition of copper carbonate gives:
(a) copper oxide and carbon monoxide.
(b) copper oxide and carbon dioxide.
(c) copper metal and carbon dioxide.
(d) copper carbide and oxygen.



PR FEfAC & FSAT J9geT T 7 fFerdr &2
(a) PR TFABS AR FIeT AATFASS
(b) PR HTFarss iR FeT FIHFASS
(c) I 1 AR F1eeT sr3HTFSS
(d) PR HETEs AR AT

111.
In software context, SQLite is a:

(a) Relational Database engine
(b) Real-time Operating System
(c) Anti-virus Software

(d) Network Operating System

TIFeaIN & HGH H, SQLite (VHFIATSE) AT &7

(a) HEUIRFH STl 3o (RelereTel seed Ef5e)

(b) He eforar eaTeret Jutell (R3rer-ersd TR faweH)
(c) 9fcT TaTu] AFedaR (TE argid HIFeaN)

(d) T TaTele] YOTTell (sfedeh TRicr fawes)

112.

ISO 9001 is a Standard for:

(a) Information Security Management
(b) Risk Management

(c) Quality Management

(d) Food Safety Management

1SO 9001 forgs o A+ &, 98 ¢ ¢

(a) T GRE&T Jetial
(b) ST e
(c) TTOTeT Seerey
(d) BT FI&T Faer



113.
Wanna Cry is a Ransomeware cryptoworm, which targeted mostly the computers running with:

(a) Linux Operating System

(b) MAC Operating System

(c¢) Unix Operating System

(d) Windows Operating System

destl 1T (Wanna Cry) Ueh YHAII frcaiaial B, foreer ifReiera: 3 srcgedt &
fAATAT gATIT & S FT FT

(a) forTeT wamerel dF (TR BFed) W)
(b) MAC () TaTeleT dF T

O GEIECICCECERET
CICEEREICGEGE R

114.
Which one of the following generally stores in Read Only Memory (ROM) of a computer?

(a) System Software

(b) Firmware

(c) Open Source Software
(d) Application Software

el SFcgel &1 shdel ToaT FFIJ?-T [Read Only Memory (ROM)] H, fe=ifaif@d & &
AT T HSTRT 8T 87

(a) dF (RAFeH) TdeaR

(b) FHIIT

(c) e T (3T E) AFeAW
(d) 3TTIIT (TCRAThTAST) HIFEAAT

115.
SCSI is a port meant for transmitting fast data, which stands for:

(a) Small Computer System Interface

(b) Small Computer Software Interface
(c) Small Computer System Integration
(d) Small Computer Software Integration



SCSI AT ged (3€T) FWOT & T Teh TAUs TTA (AC) &, oaer 31T § -

(a) THTST HFege fAEeH ey
(b) THTST HFYEY AFEAI SeThd
(c) TATST ey faTeA sfeare
(d) FATST HFegeY AIFedq sfedrerT

116.
A computer performs its operation in fraction of a second. What is the equivalent of a
Picosecond?

(a) 107 second
(b) 10™* second
(¢) 10° second

(d) 10" second

FFYEI HYAT ATl (FIH) Teh Aehs & {EA (31) A QU HAT §. Uk Akl A3
s aTeR B2

(a) 107 H&s
(b) 10" TH
(c) 10° JHs
(d) 10"* &3S

117.
Computer memory generally measures in Bytes. One Petabyte of computer memory is equivalent
to:

(a) 1024 Gigabytes
(b) 1024 Megabytes
(c) 1024 Terabytes
(d) 1024 Zetabytes



HFY T A AT S8 H AT ST . FFY T & Th 9erarse
fraes sreT 87

(a) 1024 feTTETST
(b) 1024 HIMEET
(c) 1024 CETSCE
(d) 1024 Sfererse

118.
The Hexadecimal equivalent of the Binary number 1111100101000111111 is:

(a) 7CA3F
(b) F9477
(c) F3AC7
(d) 7749F

cfa3mer |EAT 1111100101000111111 T SIS U FAJT ¢ -

(a) 7CA3F
(b) F9477
(c) F3AC7
(d) 7749F

119.
The motherboard of a computer contains a special chip known as BIOS. Which one of the

following is NOT a function of BIOS?

(a) It tests computer’s processor memory

(b) It searches for operating system and load into the system

(c) It provides a basic interface between operating system and hardware
(d) It accomplishes the execution of a program



FFYN F AcKErs 7 vs fAfse R gt § 5 s (BI0S) &g 8. eafafaa
¥ Pl A Tk H TAH HT AL § 2

(a) I§ FFYN & TohAd (W) H A (FAN) A S Hr §

(b) TE TATeTA TOTTell (TR {Ees) HT Wiel a1 g AR 39 a7
FROT T &

(c) Ig TaTelel HOTell 3N BTEAW F oI Teh HANT HIholeh Hald el

g
(d) T§ e 9IaTH & fohaeade & quf &dr §

120.
Which one of the following techniques divides the physical memory space into multiple blocks

and each block has a specific length?

(a) Segmentation
(b) Paging

(c) Swapping
(d) Fragmentation

mﬁﬁmmmmﬂﬁxmﬁa@mﬁﬁﬁmﬁm
£, 3 9+ @us $ir v RAfAse JaE gdr &7

(a) GUSIRUT (HTHCLUA)
(b) TSTARTOT (ITHaT)

(c) IARTHA (FAfTaT)
(d) A@UsT (Shadcer)



